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* AngbiH XKepai arHanbIn WhifybliHa KaHLIa
yakpIT (LLamameH) keteni?

-

A—1kyH
[ B-—1an |
C—1xbIn

* An YKepMeH canbICTbipFraHAa KaHWanbIKTbl
YIKEeH?
A — anTbigaH 6ip Geniri

B — xapTbiChbl

C — teptTeH Bip Geniri
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* Al HegeH narpa bonfFan?

[ A—rtactan

|
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m
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B — my3gaH
C — temipgeH

|-

* FOnutepain kaHwa cepiri 6ap?
A-1
B — 20-fa xybIK
[ C—60-1aH ken |

* MbiHanapgblH karceickl KOnutepaiH cepiri?

A —TutaH

[ B-—Kanmucto |
C — OnoHa

* KyH xynecinge AngaH 6acka kaHwa cepik 6ap?

A-8
B — wamameH 50

| C — 160-TaH ken

* Al Here xapblK?

A — cebebi on — Xynabl3 XXoHe XapblK
LWbiFapaabl
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B — cebebi on KyH »apbifblH
Warbinablpaabl

C — cebebi on XKep >apbifbiH
Warbinablpaabl
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» HenikteH AngbliH KpaTepriepi ewwkatlaH
KOMbINMangbl?

A — cebebi AlabiH aTmocdepacsl
eTe Xyka

B — cebebi Aln eTe xaw aiHanagpl

C — cebebi onap kaTTbl TacTapaaH
KyparraH
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* HenikteH acnaHgarbl AR nNiWiHiH e3repTkeHaen
Oonbin kepiHeni?

A — cebebi on HakTbl cdhepa emec

B — ceb6ebi XXep anHanagbl

C — cebebi oHbIH Gip Geniri
KONEHKENEHIN Typ
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* AiiabiH 6eTi kaHgan?

o

A — Teric

B — Kyprak xoHe TacTak |

-

C — cyra TOnbI KpaTepnepi 6ap Tactak
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* Altfa gewiHri opTalla KallbIKTbIK KaHaan?

A—10 000 km

B — 384 000 km

C — 2000 000 km




